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class Singleton(type) :

def init (cls, name, bases, dict):

super (Singleton, cls). init (name, bases, dict)

cls. instance = None

def call (cls, *args, *kkw):
if cls. instance is None:
cls. instance = super(Singleton, cls). call (kargs, s¥kw)

return cls. instance

class MyClass (object) :
__metaclass = Singleton

print MyClass ()

print MyClass()

2. f#H decorator >RSI B AR 2
def singleton(cls):

instances = {}

def getinstance():

if c¢ls not in instances:
instances[cls] = cls()

return instancesl[cls]

return getinstance

@singleton
class MyClass:
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#r: XA lambda BREERNIR I FREXPME . RB AT DG I EZ — MR &
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>>> g = lambda x, y: x*ky

>>> g(3,4)

12

>>> g = lambda x, y=0, z=0: x+y+tz

>>> g(1)

1
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WEENE E A lambda A%, AEER(ELLE:

>>> (lambda x, y=0, z=0:x+y+z) (3, 5, 6)
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Python #2445 A8 & BUAE N — PP BL 36 Bl o — PR AL N B R 2 int BRERRE
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>>> int(” 34" )
34
>>> int (7 1234ab” ) HASHERE H R TEEL
ValueError: invalid literal for int(): 1234ab
PR int HAEWSHETF B 0 B, HF S B INBGES o s 2
>>> int (34. 1234)
34
>>> int (-2. 46)
-2
BRELC oat K BEEURN AT BB B 4t T e A
>>> float(” 12" )
12.0
>>> float(” 1.111111" )
1. 111111
BREL str K BT 0 - 1
>>> str(98)
(98/
>>> str(” 76.765" )
“76.765
B 1 FNPE L. 0 F python AR BEAAEANTHRMEMZER, HEEETA
[FIRIRAL . XA TR A4 T N R A —

4: Python W] & XL —™ bR %k

PRI 1) E SO

I

def <name>(argl, arg2, - argN):

{statements>
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>>> def add(pl, p2):

print pl, “+”, p2, “=", pl+p2

>>> add(1, 2)

1+2=3
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6: W T HIIEAR—1F51? how do I iterate over a sequence in reverse order
AR A Tist, SPREIMRRIT SR

list. reverse()

try:

for x in list:

“do something with x”
finally:

list. reverse()

ARANE Tist, fOE M ERRE R RTT S

for i in range(len(sequence)-1, -1, -1):
X = sequenceli]
{do something with x>
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PR tuple (seq) AT AT A ATEAR K (i terable) R ANl —/ tuple, JUE&
A, HEFF A,

Bign, tuple (L1, 2,3D)RMF(1, 2,3), tuple(’ abc” )IR[EI( a” .7 b",” ).
MRS L2 tuple K, EﬁiiﬂﬁﬁﬂfffTF%D1ﬁﬁEi%&l_[]EﬁﬂéﬁﬁXTER FIr
PATEANEA 2 XS g A2 tuple ISR tuple O s Bt A RARFETE I o

BRE 1ist (seq) W] BAEFA B SUAT A IS AR REEHE— > List, TR A,
HEFP A

it 1ist ([1,2,31)iRIA(1,2,3), 1ist(’ abe’ )iRMI["a’, ’b’, "¢’ 1. WHE
ZHGE— list, WG set[: ] —F— DL
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ALASEAE Tist EHHEF, ARG list FREIFEER, RiEuT.

if List:

List. sort ()

last = List[-1]

for i in range(len(List)-2, -1, -1):
if last==List[i]: del List[i]

else: last=List[i]

9: Python SCAF#EAF ) T i /&

1. 40 A Python fHI R —N 3042
{§H os. remove (filename) 8y os. unlink (filename) ;

2. Python U1 copy —AN3CHF?
shutil A —A copyfile BREAT PASLZHL SCA#4 T
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PRt PE random SEIL  — ADBENIECAE RS, SEBAAS AT
import random

random. random ()
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A LU# ] smtplib ARdEE.

A ARAG o] ASE S RE SMTP M Wy #8 A IR 25 2% BT .
import sys, smtplib

fromaddr = raw input(” From: “)

toaddrs = raw input(” To: “).split(’ ,’)
print “Enter message, end with D:”

msg = 7

while 1:

line = sys. stdin. readline()

if not line:

break

msg = msg + line



# ORI MR

server = smtplib. SMTP(’ localhost’ )
server. sendmail (fromaddr, toaddrs, msg)
server. quit ()

12: Python B[ Wifal 45 Il —ANX 5 2

— RV R] LAEH copy. copy () J5¥4EE# copy. deepcopy O) 775, JLT-Fi& X}
RAAT AR DL

— YRR LIE R G HI# UL, Dictionaries H— copy fik:
newdict = olddict. copy()
13: HEAE AT EALIFEBETL python A bug AIHEATEH &AL/ 47 2

A, PyChecker &— python fRISHERS M L HE, ©r] AFBIEK python A%,
TO 1) bug, 2XTACRD )& 4% Ak 0P tH 2 2

Pylint & 74— T HATLL#EAT coding standard i E.
14: WAfTLE—A> function BT ¥ B — >4 M2 E?
R TT 12 AE function FFUGH AN —> global FHH:
def ()

global x

14: BRI a, b, KN n, AR EERELL, TR 2K
A8 a, b FHITTER, (EFH a JusR BRI ] 5 U551 b JoR AT Z 18] 1 2 /) o

L. BHFIEHN—DF, HHF, AT Source
2. EHHEARIUE Big, IXKHIITE Small
3. 1ER FHIFEASL:-21347 P4y, 153]F%) max, min

4. ¥ Small In3| max 4, ¥ Big K min 4, E#HFEH AR, FIKH)
N max, /MFIN mine.

Python 1ChY
def mean( sorted list ):

if not sorted list:



return (([], [1))

big = sorted list[-1]

small = sorted list[-2]

big list, small list = mean(sorted list[:-2])
big list.append(small)

small list.append(big)

big list sum = sum(big list)

small list sum = sum(small list)

if big list sum > small list sum:
return ( (big list, small list))
else:

return (( small list, big list))
tests = [ [1,2,3,4,5,6, 700, 800],
[10001, 10000, 100, 90, 50, 1],

range (1, 11),

(12312, 12311, 232, 210, 30, 29, 3, 2, 1, 1]
]

for 1 in tests:

1. sort ()

print

print “Source List:\t”, 1

11,12 = mean(1)

print “Result List:\t”, 11, 12

print “Distance:\t” , abs(sum(11)-sum(12))



print ‘=%’ %40
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Source List: [1, 2, 3, 4, 5, 6, 700, 800]
Result List: [1, 4, 5, 800] [2, 3, 6, 700]
Distance: 99

—sk—sk ks sk —sk—sk— ks —sk—sk— sk —sk—sk—sk— kK —k—sk—sk—sk— kK —k—sk—sk—sk—k—k—k—k—
sk—sk—k—k—k—k

Source List: [1, 50, 90, 100, 10000, 10001]
Result List: [50, 90, 10000] [1, 100, 10001]
Distance: 38

—sk—sk ks —sk—sk—sk— kK —sk—sk—sk—sk— kK —sk—sk—sk— kK —k—sk—sk—sk—sk Kk —sk—sk—sk—k—k—k—k—
sk—sk—k—k—k—k

Source List: (1, 2, 3, 4, 5, 6, 7, 8, 9, 10]
Result List: (2, 3, 6, 7, 10] [1, 4, 5, 8, 9]
Distance: 1

—sk—sk—k sk —sk—sk—k—k—k—sk—sk—sk—k—k—sk—sk—sk—sk—k—k—sk—sk—sk—sk—k—k—sk—sk—sk—k—k—k—k—
sk—sk—k—k—k—k

Source List: (1, 1, 2, 3, 29, 30, 210, 232, 12311, 12312]
Result List: [1, 3, 29, 232, 12311] [1, 2, 30, 210, 12312]
Distance: 21

—sk—sk sk —sk—sk— Kk —sk—sk—sk— kK —sk—sk—sk—sk— kK —sk—sk—sk—sk—k—k—sk—sk—sk—k—k—k—k—
sk—sk—k—k—k—k
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filn

import re
s = ‘<html><head><title>Title<d/title>’
print (re.match (" <.*%>” | s).group())

253 Bl —ANJGEC<htm] ><head><title>Title</title> i A &<html>

11

import re
s = ‘<html><head><title>Title<d/title>’
print (re.match (" <. *%?>” | s).group())

W 23R 5] <htm1>

CADIXFRULFLRRAE DT ULHD <. *2>FRAEIEDTOULAD
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match () BEC A RE B£AETE string IR EILES, search () &A%
N string BFHRUCHED, k2P match O RE7E 0 AL B VLRI A4 A 1R A,
WA I A B VLEL DI )E, match () ik [E] none

il .

print (re.match(’ super’ , ’ superstition’ ).span())<=ix[A] (0, 5)
M print (re.match(” super’ , ‘insuperable’ )) iz [A] None

search () I BEA 74 IR [31 55 — S e 1 DL Y

. print (re. search(” super’ , ’ superstition’ ).span())i®[A] (0, 5)
print (re. search(’ super’ , ‘insuperable’ ).span())iR[A] (2, 7)
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A LMEH sub () FiERFAT B E A B e, sub kMM N: sub(replacement,

string[, count=0])
replacement & B B SCA

string /& B H A

count & PNA[IESH, FREAPE HAIEE



Bl5-

import re

p = re.compile(” (blue|white|red)’ )

print (p. sub(’ colour’ ,’ blue socks and red shoes’ ))
print (p. sub(’ colour’ , blue socks and red shoes’ , count=1))
L

colour socks and colour shoes
colour socks and red shoes

subn O JEHAT IRCRER sub O —#F, AdE iR E—D 4], BihE s
FRIHT B 7457 AL S B i B

Bilan.

import re

p = re.compile(” (blue|white|red)’ )

print (p. subn (" colour’ ,’ blue socks and red shoes’ ))
print (p. subn(’ colour’ ,’ blue socks and red shoes’ , count=1))
gl

(” colour socks and colour shoes’ , 2)
(” colour socks and red shoes” , 1)
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Python [ except HIKH3RFT A =+ 5, KA Python B FIRIREE IR SIH —
ﬁﬁﬁ,%uﬁﬁﬁ?m%&%WéﬁgA SATH AR

— N2 except HJ— M1+

try:

foo = opne(” file” ) #Hopen #i4#i 5y opne
except:

sys. exit(” could not open file!” )

RN IX M5 1R A2 FH T open # 85 Al opne TTI& AT, 2RJE#E except gk, ArLA
debug F& ¥ HIRMEIR 25 Z AN FIE B T A4 ) @t

XA B R



try:

foo = opne(” file” ) # XHJ{& except RHf3k I0Error
except IOError:

sys. exit(” could not open file” )

19: Python H pass ifif) AEF &4 ?

pass WA A WA, — Ay HAAF S B SRR, pass BRI SHAT
FETEAE, tein:

while False:

pass

pass 18 F R B — A B faf S K

class MyEmptyClass:

pass

pass FEFABTHHT Bet 4 H FHSRAE 9 TODO,  $RBESCIUAR M. () S8, - b
def initlog(*args):

pass #please implement this

20: /28— F Python F range() R £ (14?2

IR T EER DT SIIE, ATBME range O BREL, range () BRACA] I

anf .

for i in range (5)

print (i)

B EmE 0, 1, 2, 3, 4 EAMEF

range (10) 2724 10 ™MA, W ATLLik range O M A —N P46, 8038 € X
—IAFEKEE, EERMHIEE

range (5, 10) A\ 5 3 9 B HAEF

range (0, 10, 3) &A=, @F0,3,6,9 U HFE
range (10, -100, -30) ¥E&E A-30, FE-10, -40, -70
A PL—#efdi F range O #1 len O SRiER—NR T FH)



(LUE
a = [’Nina’, ’Jim, ’Rainman’, ’Hello ]
for i in range(len(a)):

print(i, ali])



